
Wing Nut

Washer

The Ladder

Standard Nut Fender Washer

Decking

Backing Plate

Bolt

Ladder Assembley Parts (Displayed) : Not Displayed:

Qty 2 - Ladder Handle Qty 4- 3/8" Washer Qty 1 - Ladder Rungs 

Qty 2 - Backing Plate Qty 4 - 3/8"  Wing Nut Qty 2 - 1/4" x 2 1/4" Bolt

Qty 4 - 3/8" x 3" Bolt Qty 4 - 3/8" Fender Washer Qty 2 - 1/4" Nyloc Nut

Qty 4 - 3/8" Standard Nut

EnviroDock Ladder Hardware Installation UP


